G R coa Edotitose COFT:
ﬂ;x’h DOWO o,
!@Ei Time 13, 292;05

— Meol / v MM#
’LNM“« Lormotramdtt e ir

APV s ]@

S= S5 L g7 2kt ot ]

’WW ’—-—//_4:/ G2 Joyuner

/ 85, - & T
=Ly of i arelpriris of s s
OM [Drilpzo 5> i3 4. [ uty [
s :f—/‘ZH//Elz'/MTV‘C}?& o a “"”’Zi_://’!”z

&ﬁ ﬁwwaﬁfz%w(w ol CHFT
R C;{:{ ), Mz
5:‘ M W= ) e Bl

p—

//‘\/



el

Do = plo=-3po

P ot — 7320 Y
b4 = 2p

' 7@(7)24 /j

D = IO (T + (7Y 0,005
— i

DTy = 0uTpg + DT + o = Ty T —



bég/)/é/m o) =



st T
T A R
T it
7040 > (%nyz Se) ¥ ?MX

Gorsrint f A = SA ST-2{25)s
— DY — S@DF”

5 D ot
AL —SﬂmM g /OAL

/./‘

5@f5//j [Jabs Jed) = i [1laaTbc + 1beTad = TacToa = MbdTaq,
_ “f
(/Qﬂ /}Mj - L raaél&-mng)






D [l —
S=CIr /5 (Ca—rwl) o9&,

b
AL

~ v

S D 4 = O pd P

2= Dap L

%@f

W ot L mecon R
v /~7/

W 2‘,7“:() =70 ) —=adfe

A A
Fa—
/‘\~/~//M _(v

B ' -)‘ T A 04 . 2
D Zv F )y = ot Ao => lraim

Lorilohir Corilan



7 7 B 777 o
g/&ﬂ/‘eﬁ = /2‘,‘ /vo(ﬁ’ Q/%a / /;'— 7:1;
2},0/ = ivyﬂ < povsitis,
j?*: ?Vf( Vo EM
A Lo
- K, 7 e
dfya( }_9(%7‘%2
' T
Henre - B
5;: f//;/}%f;; ﬁ] # 5{ %S
>
5 - Sl? ’f_g/yy— Vm@/ﬁé’w/;?

S — cmvondim R
_W%ﬂ Kenit. o Z/Z'>é

z = 5 L (R g R
SM[}‘L L) =
7(/”7#%5 O
L = K= =5
@v 2’7—.\/? = 7;\1 47/:;
P rr= 227 &



/W G i /ngw
WM%JJM /

?/o\/“ %V +X T e T

/‘sv:y ,%h ’f*,ika/l"w(l\o/y
P %—\ —
Rov= K [5 08) +Q,A,A/,~;),/A*>—z&h,£(

G — -
R = K1 _ U/'/\>]

where
O, 3 = (80'67) =1 10s)0) = 26(20")0) + 1as 0" 0" + 11" ey .






%4/@0&» >4

¥
S = Sa/j//:}[’%& )67_07;,,,J
B2 [2 240K,
~ A S
AT SR 2D, N
e + NG>)

%M T e >
z% — ?%/1 f)/ A)v %‘fh‘{c:/
[ Mool ghosite — ot Lime |
G fricys .
L= }}w[iﬂ Y17 74/78]5@ *éﬁ“/f_‘-‘/
ot
/;uy;ﬁ = {7/«4 >7V/>’17t/4 37(/0;:&
;&%JM/@;W;&ZV
T 7727 Y Ve Tt g

:\i vg{

Mve/% 4‘\/£=—o_zf






k(ap) K (0)

q(pv)

72’_/{ yRg — D (E — g\ 7 3;“/2 ) —
= 2<Pama[l€k + (k= )"(k - )" +¢"¢" = 5n"q é’/MW

+ 2000 [T, g 1M 5 + T 5T g — T 7 5 — T, T 5]

A A
+ [ong” (naﬂl ~s T 77“/5[ aﬁ) +agxq (77@,6[ ufyts + nysl ua[j)

— (a5 + 1" 5) = 1" 00 (Naplrsne + Mo 1ap o))

{ (IW slysro(k = @) + 17, 315 00 (k — q)”
— 17 Lo okt = I sTag rok" )

+ q2(IUMaﬁI'y§,UV + 1, 17", s+ A (ngyajaﬁ,kp + Ipoaﬁjv&)\p)}

a, oV 1 14
[0 = ) (17 + I, = 57 Paios)
- kznvélwaﬁ — (k- Q)znaﬁlwws}> :
g F)

7 7

— 1 TJLKZZD/F‘f]D )o)j 5\10@

[//zpa . S:"‘j

"W) "\/67 )’:" é/ﬂ%/ﬂt L
+T

il K:= 307 &



